ATRC-24，ATRC-36，ATRC-48
· The use of parts provided by other companies, our company has the right not to provide warranty service;
· Order replacement parts from authorized representatives and after-sale service agency.
· Provide the model number, serial number and description when you order components.
[image: ]

[bookmark: _GoBack]
	
No.
	Matters Code
	Component name
	Qty
	Dimensions
(mm)/Model
	Remark

	1
	301110001
	Adjustable steel legs
	4
	φ41.5*100
	ATRC-24P\36P\48P

	2
	21205001007
	Heat insulation tray assembly
	1
	507*620*26.5
	ATRC-24P

	
	21205002007
	
	
	807*620*26.5
	ATRC-36P

	
	21205003007
	
	
	1117*620*26.5
	ATRC-48P

	3
	301080002
	Galvanized flange nut
	6
	M6
	ATRC-24P

	
	
	
	9
	
	ATRC-36P

	
	
	
	11
	
	ATRC-48P

	4
	301082001
	Galvanized flat washer
	4
	φ6*φ10
	ATRC-24P

	
	
	
	6
	
	ATRC-36P

	
	
	
	7
	
	ATRC-48P

	5
	21105001031
	Catch tray
	1
	475*187*25
	ATRC-24P\36P\48P

	6
	21105001008
	Control panel
	1
	605*185
	ATRC-24P

	
	21105002008
	
	
	905*185
	ATRC-36P

	
	21105003008
	
	
	1215*185
	ATRC-48P

	7
	301030055
	Piezo Igniter
	2
	PE018A
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	8
	301140001
	Burner knob
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	9
	301081006
	Galvanized screw
	4
	ST4.8*12.5
	ATRC-24P\36P\48P

	10
	301080006
	A60 valve matching M16 nut
	4
	
	ATRC-24P

	
	
	
	6
	
	ATRC-36P

	
	
	
	8
	
	ATRC-48P

	11
	301050012
	A60 valve matching Φ10 copper hoop
	6
	
	ATRC-24P

	
	
	
	9
	
	ATRC-36P

	
	
	
	12
	
	ATRC-48P

	12
	301050009
	A60 valve matching air inlet joint
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	13
	301030012
	A60 valve with flame out  protection device
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	14
	301040023（NAT）
301040022（LP）
	Nozzle (NAT)
Φ2.4
Nozzle (LP)
Φ1.45
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	15
	301080008
	M18 Copper lock nut
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	16
	301080007
	M16 Copper nut
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	17
	301050014
	Copper elbow
	2
3
4
	
	ATRC-24P

	
	
	
	
	
	ATRC-36P

	
	
	
	
	
	ATRC-48P

	18
	21105001027
	Main fire gas pipe
	2
	Copper pipeΦ10 *1.0
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	19
	301060001
	1/8”fitting
	1
	1/8"-27NPT
	ATRC-24P\36P\48P

	20
	301060002
	Needle type pressure tap
	1
	M5*23
	ATRC-24P\36P\48P

	21
	301050013
	A60 valve matching 1/4 fire joint
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	22
	21105001026
	Pilot light intake-tube
	2
	Copper pipeΦ6*0.8
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	23
	301081002
	M4*8 stainless steel recess head screw
	4
	
	ATRC-24P

	
	
	
	6
	
	ATRC-36P

	
	
	
	8
	
	ATRC-48P

	24
	301030015
	Fire seat
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	25
	301030016
	Thermocouple
	2
	M9*P1.0 L=600mm
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	26
	301170021
	Pilot light orifice
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	27
	301030029
	ignition needle
	2
	
	ATCB-24

	
	
	
	3
	
	ATCB-36

	
	
	
	4
	
	ATCB-48

	28
	21205001001
	Coutertop
	1
	610*700*218
	ATRC-24P

	
	21205002001
	
	
	910*700*218
	ATRC-36P

	
	21205003001
	
	
	1220*700*218
	ATRC-48P

	29
	301020006
	Grates
	4
	150*525*22
	ATRC-24P

	
	
	
	6
	
	ATRC-36P

	
	
	
	8
	
	ATRC-48P

	30
	21205001003
	Char grate back support brace
	1
	L=600
	ATRC-24P

	
	21205002003
	
	
	L=900
	ATRC-36P

	
	21205003003
	
	
	L=1210
	ATRC-48P

	31
	301170002
	Short burner deflector
	2
	92*103
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	32
	301170001
	Long burner deflector
	2
	L=451
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	33
	301010007
	U-type burner
	2
	
	ATRC-24P

	
	
	
	3
	
	ATRC-36P

	
	
	
	4
	
	ATRC-48P

	34
	301030023
	Pressure maintaining valve
	1
	RV48CLM-66-0012 CE
	ATRC-24P\36P\48P

	35
	301070020
	Gas manifold
	1
	Φ26-503*648
	ATRC-24P

	
	301070021
	Gas manifold
	
	Φ26-803*648
	ATRC-36P

	
	301070022
	Gas manifold
	
	Φ26-1113*648
	ATRC-48P

	36
	21205001005
	Surround
	1
	610*640*203
	ATRC-24P

	
	21205002005
	
	
	910*640*203
	ATRC-36P

	
	21205003005
	
	
	1220*640*203
	ATRC-48P














Model

	Name
Qty

	ATRC-24P
	ATRC-36P
	ATRC-48P

	Adjustable steel legs
	4 pieces（301110001）
	4 pieces（301110001）
	4 pieces（301110001）

	Heat insulation tray
	1 piece（21205001007）
	1 piece（21205002007）
	1 piece（21205003007）

	Catch tray
	1 piece（21105001031）
	1 piece
	1 piece

	pressure maintaining valve
	1 piece（301030023）
	1 piece（301030023）
	1 piece（301030023）

	Nozzle 
	2 piece（301040023） 
or
（301040022）
	3 piece（301040023） 
or
（301040022）
	4 piece（301040023） 
or
（301040022）

	No.7 Battery
	2 piece（306090005）
	3 piece（306090005）
	4 piece（306090005）

	instructions
	1 piece（304080041）
	1 piece（304080041）
	1 piece（304080041）



image1.emf
29


28


21


22


23


24


25


18


19


20


14


15


16


11


17


10


11


12


13


8


9


6


5


2


4


3


1


32


31


30


27


26


33


35


36


34


7




29

28

2122232425

18

1920

1415161117

10111213

8

9

6

5

2

4 3

1

32

31

30

27 26

33

35

36

34

7


